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Rekenen met verschillende grootten

1. Vindt de juiste oplossingen:
Let op: er zijn ook verkeerde oplossingen bij!

a.) Euro:
41 €|+ |3|€] = € 5 €| + €| =11 €
70/€|+|8|€]| = € €|+ |2 |€|=|8]|%€
6 | €| + €| =|15| € 8|€|+|5|€]| = €
€|+ |[9|€]|=]14]| € 8 | €| + €| =|17| €
O|€|[+ |7 | €| = € 7|1€|+]|3|€]|-= €
6 4 15 11 9 12 16 9 13 10 6 7 5

b.) Meter:
3Im|+|5[m]|-= m 2| m|+|5|m|-= m
11| m| + mif=[14|m m|+|4[m]=[16]m
m|+|[5[m]=1]12|m 5[m]| + m| =118 m
4 1m|+|8|m|-= m 6 | m|[+|2]|m|-= m
7 | m| + m|=]13|m 8 | m| + m| =117 m
3 12 14 13 7 8 5 6 9 7 11 12 7

c.) Kilogram:
2 |kg| + [11 | kg | = kg 3|kg| + | 6 |kg| = kg
8 [ kg | + kg | = |12 | kg kg| + | 6 |kg| = [ 15| kg
kg| + | 4 | kg| = [ 11 | kg 5 |kg| + kg | = | 18 | kg
5 kg| + | 3 |kg]| = kg 9 |kg| + |5 [kg]| = kg
7 | kg | + kg | = | 13 | kg kg| + | 4 |kg| = |15 | kg
4 7 8 9 12 13 14 7 11 10 9 6 15
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